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_______________________  _______________________


Two men and two women have to cross a river. They only have one canoe. The 
canoe can hold two people and everyone can paddle. What is the fewest 
number of trips it will take to get everyone across the river?


Thanks to Peter Liljedahl for this puzzle

Working together to solve a puzzle can be 
fun, not to mention helpful = To give credit 
where credit is due, list all the people who 
worked together on this puzzle = (They 
could be friends, classmates, and/or family 
members =) Please include last names and 
division numbers (for students) =

Crossing a River


